Name,
Read the following questions and circle the correct answer.

1. The mitten was only knitted to be big enough for what?

One child's
hand

animals

2. When the bear sneezed why did all of the animals burst out of the mitten?

= dﬁ\?i
The mitten - There were
was poorly ‘ too many
made. animals in it.

o

3. When big cities have a scarcity of space, what is one thing they do to get more space?

They make Build taller
people leave. buildings.
4. Choose the best way to solve a scarcity of food.
Grow more Buy more
machinery

Earn it. Print more.
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